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SIMPLE INTEREST

1. Find the simple interest on Rs. 8250 at 8%

per annum for 3 years. Also, find the amount.

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LtiosLjDPVPh

2. Find the simple interest on Rs. 72000 at

1
65 % per annum for 4 years. Also, find the

amount.

o Watch Video Solution

3. How long will it take for a sum of Rs. 12600
invested at 9% per annum simple interest to

amount to Rs. 160027

o Watch Video Solution



https://dl.doubtnut.com/l/_LtiosLjDPVPh
https://dl.doubtnut.com/l/_JAMYjDoMThfk
https://dl.doubtnut.com/l/_Jx2s2KTkOWxp

4. A sum of Rs. 16000 earns a simple interest
of Rs. 2560 in 2 years. Find the rate of interest

per annum.

o Watch Video Solution

5. At what rate per cent per annum simple

interest will a sum double itself in 8 years ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Jx2s2KTkOWxp
https://dl.doubtnut.com/l/_umuhjT8V5Nv9
https://dl.doubtnut.com/l/_FUlUfVS6U3RI
https://dl.doubtnut.com/l/_uD991TtzndH9

6. What sum will yield Rs. 1125 as simple

interest in 2 years at 9% per annum?

o Watch Video Solution

7.What sum will amount to Rs. 1292 in 3 years

at 12% per annum simple interest?

o Watch Video Solution

8. A sum of money invested at 9% per annum

simple interest amounts to Rs. 37760 in 2


https://dl.doubtnut.com/l/_uD991TtzndH9
https://dl.doubtnut.com/l/_cIVVWgOHRv8p
https://dl.doubtnut.com/l/_umFuhEOTFCkg

years. What will it amount to in 3 years at 10%

per annum?

° Watch Video Solution

9. X15, 000 is invested at 10 % p.a. for 1 year.
Find the interest at the end of 1 year and also
the amount.

A. = 1,000, X13, 000

B. = 3, 000, X21, 000

C. = 1,500, 16, 500


https://dl.doubtnut.com/l/_umFuhEOTFCkg
https://dl.doubtnut.com/l/_DteLpvuxNlPp

D. = 2, 500, 12, 500

Answer: C

o Watch Video Solution

10. Y8000 is borrowed at 4 % interset for 3
years. Find the interset and the amount at the

end of 3 years.

o Watch Video Solution



https://dl.doubtnut.com/l/_DteLpvuxNlPp
https://dl.doubtnut.com/l/_B9UIs0Sak161

11. Mohan borrowed some money at 6 % per
annum. He had to pay 3600 as interest after

3 years. What sum did he borrow ?

o Watch Video Solution

12. At what rate per cent per annum will X700

produce X168 as simple interest in 2 years ?

° Watch Video Solution



https://dl.doubtnut.com/l/_87DNt2wm6UBZ
https://dl.doubtnut.com/l/_5G1t20NuYNzk

13. In how much time will 12,000 earn an

interest of 4800 at 8 % interest p.a.?

° Watch Video Solution

14. Find the sum of money which when
invested for 4 years at 5% per annum yields

an amount of X540.

° Watch Video Solution



https://dl.doubtnut.com/l/_kWkI7089g6yI
https://dl.doubtnut.com/l/_AcIFlFr1TISH

15. At what rate per cent will a sum of money

triple itself in 12 years ?

° Watch Video Solution

16. A sum of money invested at certain rate of
interest doubles itself in 10 years. In how

much time will it treble itself at the same rate

o Watch Video Solution



https://dl.doubtnut.com/l/_87U2WfN68YiZ
https://dl.doubtnut.com/l/_K7wn8mvhPTcu
https://dl.doubtnut.com/l/_W4PTKfssQXbL

17. A sum of money lent out at simple interest
amounts to 1900 in 1 year and to 2800 in 4
year. Find the rate of interest and the sum of
money.

A.R=13.75%, P=3X 1760

B. R=18.75%, P=3X 1600

C.R=13.75%, P=3X1300

D.R=19.75%, P=<X 1680

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_W4PTKfssQXbL

18. Arun has a certain sum deposited in a bank
at 5% per annum. The bank increases the
rate of interest from 5% to 6%. Arun
deposits 2000 more in his account. The
annual interest received by him now is X220

more than before. Find his original deposite.

o Watch Video Solution

19. Divide 3500 into two parts so that simple

interest on the first part when deposited for 2


https://dl.doubtnut.com/l/_W4PTKfssQXbL
https://dl.doubtnut.com/l/_b7vuUlat3zZI
https://dl.doubtnut.com/l/_IccXE1tPQGur

years at 15% per annum and that on the
second part when deposited for 3 years at

16 % per annum in a bank add to give the

total interest of X1320.

° Watch Video Solution

20. In how much time will the simple interest

1
on certain sum of money at 12— % per

annum be 1 of itself ?

° Watch Video Solution



https://dl.doubtnut.com/l/_IccXE1tPQGur
https://dl.doubtnut.com/l/_mElo22NPbVPU
https://dl.doubtnut.com/l/_tfUQHO6MRDmm

21. Interset earned on 12, 000 is X980 more
than the interest earned on X8500. If both the
sums were invested at same rate of interest

for 4 years, find the rate of interest.

o Watch Video Solution

22. Rajni and Mohini deposited Rs.3000 and
Rs.4000 in a company at the rate of 10% per
annum for 3 years and 25 years respectively.
The difference of the amounts received by

them will be


https://dl.doubtnut.com/l/_tfUQHO6MRDmm
https://dl.doubtnut.com/l/_U5MFXrypgHcX

A. 100

B. 1000

C. 900

D. 1100

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_U5MFXrypgHcX

1. Find the simple interest and amount on
each of the following :

(i) Rs. 8400 for 4 years at 8% per annum.

(i) Rs. 50000 for 3 years 12% % per annum.

1
(iii) Rs. 9275 for 2 years at 75 % per annum.

o Watch Video Solution

2. In what time will Rs. 7500 amount to Rs.
o : : 1
8625, if simple interest is reckoned at 75 %

per annum?

| & I


https://dl.doubtnut.com/l/_if4pLD7khMuN
https://dl.doubtnut.com/l/_SOjvV2ovxPpA

| ¥ Watch Video Solution

3. In what time will Rs. 3600 amount to Rs.

4320 at 4% per annum simple interest?

o Watch Video Solution

4. At what rate per cent per annum will Rs.

6300 yield an interest of Rs. 2100 in 4 years?

o Watch Video Solution



https://dl.doubtnut.com/l/_SOjvV2ovxPpA
https://dl.doubtnut.com/l/_ZJmWeX5w5u7U
https://dl.doubtnut.com/l/_xVQh0Y8tIuQM
https://dl.doubtnut.com/l/_ci4AxTYwNtEB

5. At what rate per cent per annum simple
interest will Rs. 66000 amount to Rs. 72720 in

2 years?

o Watch Video Solution

6. The simple interest on a sum of money for 5
years is 5 of the sum. Find the rate per cent

per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_ci4AxTYwNtEB
https://dl.doubtnut.com/l/_cnaJ6gemA4vD

7. The simple interest on a certain sum for 3
years at 10% per annum is Rs. 829.50. Find the

sum.

o Watch Video Solution

8. What sum will yield an interest of Rs. 7840 in

2 years at 6Z % per annum?

° Watch Video Solution



https://dl.doubtnut.com/l/_AnoIUyCD0nr4
https://dl.doubtnut.com/l/_tMJ5mGFqTUpn

9. At what rate per cent per annum simple

interest will a sum treble itself in 16 years?

° Watch Video Solution

10. A sum when reckoned at 6% per annum
simple interest amounts to Rs. 4130 in 3 years.

Find the sum.

° Watch Video Solution



https://dl.doubtnut.com/l/_R6nilY0q09nq
https://dl.doubtnut.com/l/_uTOy4yazzZzE

1. A sum of money put at 11% per annum
simple interest amounts to Rs. 10370 in 2
years. What will it amount to in 3 years at the

same rate?

o Watch Video Solution

12. A sum of money put at 9% per annum
simple interest amounts to Rs. 10160 in 3
years. What will it amount to in 2 years at 8%

per annum?

| & I


https://dl.doubtnut.com/l/_IVJ5aq61Y94r
https://dl.doubtnut.com/l/_6Fn3fKgZxmni

| ¥ Watch Video Solution |

1. Find the interest on 12,000 at 8 % per

annum for 4 years.

o Watch Video Solution

2. What sum of money will earn an interest of

X160 at the rate of 4 % per year for 2 years ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_6Fn3fKgZxmni
https://dl.doubtnut.com/l/_IJUuJjTHn03j
https://dl.doubtnut.com/l/_SV1Lu6hvbEgb

3. Find the time in which X800 will earn an in

interest of X120 at 5 % per annum.

o Watch Video Solution

4.Find the rate of interest per annum at which

900 will yield an interest on X180 in 5 years.

° Watch Video Solution



https://dl.doubtnut.com/l/_SV1Lu6hvbEgb
https://dl.doubtnut.com/l/_JZ7NQtABObT1
https://dl.doubtnut.com/l/_sfwL2LvsQqw8

5. What sum of money will amount to X840 in

3 years at 4 % interest per year ?

o Watch Video Solution

6. At what rate per cent will a sum of money

double itself in 6 years ?

o Watch Video Solution



https://dl.doubtnut.com/l/_JxP2df9kG7um
https://dl.doubtnut.com/l/_IRi6LuHSphEU

7. Divide 1550 into two parts such that if one
part is lent out at 15 % p.a. and the other at

24 % per annum, the total yearly interest

income is X300.

o Watch Video Solution

8. A man invests 2000 for 3 years. He also
invests 1600 for 3 years at a rate 2 % higher

than the first one. He earns an interest of


https://dl.doubtnut.com/l/_4LBMDwlzhvzr
https://dl.doubtnut.com/l/_daIliahtHZML

996 at the end of 3 years. Find the rates of

interest in both the cases.

° Watch Video Solution

9. Find the time in which the simple interest
: 4
on a sum of money will be 5 times the

principal at 8 % per anuum.

° Watch Video Solution



https://dl.doubtnut.com/l/_daIliahtHZML
https://dl.doubtnut.com/l/_5Mjg4aEi66yR

10. interest earned on 8000 is X405 more
than the interest earned on X6500. If both the
sums are invested at the same rate of interest

for 3 years, find the rate of interest.

o Watch Video Solution

11. Reena deposited X18, 000 in a bank. She
withdrew 5000 after 4 years. At the end of 9
years, she receives an amount of 21, 220.

Find the rate of interest.

| & |


https://dl.doubtnut.com/l/_A9p3wPCKukoe
https://dl.doubtnut.com/l/_3JmzEqUq1Zh7

| ¥ Watch Video Solution

Exercise 10 1

1. Find the simple interest on :
a.X3500 at 4 % p.a.for 5 years.

b.X4300 at 6 % p.a. for 3 years.

° Watch Video Solution

2.Find the principal if :

a.the interest is 2880 at 8 % p.a. for 3 years.


https://dl.doubtnut.com/l/_3JmzEqUq1Zh7
https://dl.doubtnut.com/l/_kchftvHQ6pzC
https://dl.doubtnut.com/l/_74GqjwtwBByq

b. the interest is X360 at 5 % p.a. for 4 years.

o Watch Video Solution

3.Find the rate of interest if :
a. the interest on 1800 for 4 years is I432.

b. the interest on 2200 for 3 years is X330.

o Watch Video Solution

4.Find the time in which :

a. 32700 will yield an interest of X324 at 4 %


https://dl.doubtnut.com/l/_74GqjwtwBByq
https://dl.doubtnut.com/l/_JO1HloXtNC8I
https://dl.doubtnut.com/l/_tmMfP9fC2ScD

p-a.

b. 4200 will yield an interest of 31000 at 6 %

p-a.

o Watch Video Solution

5.1n how much time will the simple interest on

a sum of money at 8% p.a. be B of the

principal ?

o Watch Video Solution



https://dl.doubtnut.com/l/_tmMfP9fC2ScD
https://dl.doubtnut.com/l/_t5icVpfYud8V

6. Interest earned on 39000 is X400 more than
the interest earned on X7000. If both the sums
are invested at the same rate of interest for 4

years, find the rate of interest.

o Watch Video Solution

7. A sum of money, invested with simple
interest, amounts to 23, 400 in 5 years and
to 26, 640 in 8 years. Find the sum of money

and the rate of interest.

| & I


https://dl.doubtnut.com/l/_g4dflarzNidl
https://dl.doubtnut.com/l/_xW1HcNXIoyQ0

| ¥ Watch Video Solution |

8. A sum of money amounts to 14, 880 in 6
years and to 16, 320 in 9 years. Find the sum

of money and the rate of interest.

o Watch Video Solution

9. a. Divide X32, 000 into two parts such that if
one part is lent at 6 % p.a. for 3 years and the

other at 10 % p.a. for 3 years, the total sum as

interest is X6840.


https://dl.doubtnut.com/l/_xW1HcNXIoyQ0
https://dl.doubtnut.com/l/_uiWv7nivbAzn
https://dl.doubtnut.com/l/_SiWCSbpLkVQl

b. Divide X84, 000 into two parts such that if
one part is lent at 5 % p.a. for 4 years and the

other at 8 % p.a. for 5 years, the total sum as

interest is X18, 960.

° Watch Video Solution

10. Raman deposited X7600 in a bank. He
withdrew 3000 after 2 years. At the end of 7
years, he receives an amount of X7656. Find

the rate of interest.

° Watch Video Solution



https://dl.doubtnut.com/l/_SiWCSbpLkVQl
https://dl.doubtnut.com/l/_ivdDkeqmJ7tp

11. A sum of 15, 500 was deposited by Arnav
in a bank. He deposited an additional 4000
after 3 years. At the end of 10 years, he
receives an amount of 30, 480. Find the rate

of interest.

o Watch Video Solution

12. a. A sum of money doubles itself in 4 years
at a certain rate of interest. In how many years

will it triple itself at the same rate of interest ?


https://dl.doubtnut.com/l/_ivdDkeqmJ7tp
https://dl.doubtnut.com/l/_9weZqauC6tYm
https://dl.doubtnut.com/l/_3YFnh69zK90h

b. A sum of money trebles itself in 6 years at a
certain rate of interest. In how many years will
it become four times itself at the same rate of

interest ?

o Watch Video Solution

13. Malti has deposited certain sum in a bank
at 3.5 % per annum. The bank announces an
increase in the interest rate by 1.5% p.a.
Malti deposits an additional 2500 in the

bank. The annual interest that Malti receives


https://dl.doubtnut.com/l/_3YFnh69zK90h
https://dl.doubtnut.com/l/_DavuI5L728XB

now is X221, more than what she would have

got earlier. Find the original deposite.

o Watch Video Solution

14. Puri had invested a certain sum of money
in a bank at 4.5% per annum. The bank
reduced the rate of interest by 0.5 % p.a. Puri
withdrew X4, 000 from his account. At the end
of the year, the interest he got was X200 less

than what he would have got had the bank


https://dl.doubtnut.com/l/_DavuI5L728XB
https://dl.doubtnut.com/l/_V0qNkVoM5YNu

not reduced the interest rate and he had not

withdrew X4000. Find the original deposite.

° Watch Video Solution

Revision Exercise

1. Find the:

a. Simple interest on 1800 at p.a. for 3 years.
b. Principal if the interest is X140 at 4 % p.a.
for 2 years.

c. Rate of interest if the interest on X600 for 5


https://dl.doubtnut.com/l/_V0qNkVoM5YNu
https://dl.doubtnut.com/l/_W06oNHnfunbH

years is X150.
d. Time in which %10, 000 will earn an interest

of 12600 at 18 % p.a.
e. Sum which will amount to 34590 at 12 %

p.a.in 3 years.

o Watch Video Solution

2. Find the time in which the simple interest
on a sum of money will be 0.125 times the

principal at 10 % per annum.

o Watch Video Solution



https://dl.doubtnut.com/l/_W06oNHnfunbH
https://dl.doubtnut.com/l/_ezka8E5z7AFf

3. Find the time in which the simple interest at

1
2% per annum on a sum of money is o of

the principal.

° Watch Video Solution

4. Rohit invested X10, 000 at 18 % p.a. Three
years later, he invested anotherX5000. What
amount will he get after 6 years from the

initial investment ?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_ezka8E5z7AFf
https://dl.doubtnut.com/l/_PDTPqHnh7Y70
https://dl.doubtnut.com/l/_bRZpT62sO6LU

5. A sum of money invested at a certain rate of
interest doubles itself in 8 years. In how much
time will it treble itself at the same interest

rate ?

o Watch Video Solution

6.In how much time will a sum of money triple

itself at 25 % per annum ?

° Watch Video Solution



https://dl.doubtnut.com/l/_bRZpT62sO6LU
https://dl.doubtnut.com/l/_OBBJw0vNhlSx
https://dl.doubtnut.com/l/_WbGwjly6loG0

7. Divide 2500 into two parts such that if one
part is lent at 3 % for 2 years and the other at
4% for 2 years, then the total interest income

is 160

o Watch Video Solution

8. Mark and Peter borrowed 2250 and 2500,
respectively, at the same rate of simple

interest for 3 years. Peter pat 45 more as


https://dl.doubtnut.com/l/_WbGwjly6loG0
https://dl.doubtnut.com/l/_zsxf1IiDQyov
https://dl.doubtnut.com/l/_V9r43Zhm02RN

interest than what Mark paid. Find the rate of

interest per annum.

° Watch Video Solution

9. X5000 yields X100 more aas interest than
24000, if both the sums are invested at the
same rate of interest per anuum for 2 years.

Find the rate of interest.

o Watch Video Solution



https://dl.doubtnut.com/l/_V9r43Zhm02RN
https://dl.doubtnut.com/l/_OmwA6RDSqiYi

10. A sum of money lent out at simple interest
amounts to 2880 in 2 years and to X3600 in 5
years. Find the sum of money and the rate of

interest.

o Watch Video Solution

11. A sum of money lent out at simple interest
amounts to 7440 in 3 years and to 39360 in 7
years. Find the sum of money and the rate of

interest.

| & I


https://dl.doubtnut.com/l/_6zQ6D8Bczjlt
https://dl.doubtnut.com/l/_dT1kVWkgBL1y

| ¥ Watch Video Solution |

12. Manju invested 9000 in a bank. She
deposited an additional 3000 after 2 years. At
the end of 3 years, she received X13, 200. Find

the rate of interest.

o Watch Video Solution

13. Prem has deposited some mony in a bank
4% per annum. The bank increases the

interest rate by 1 % p.a. and Prem deposits an


https://dl.doubtnut.com/l/_dT1kVWkgBL1y
https://dl.doubtnut.com/l/_BEUVW2VAx8HF
https://dl.doubtnut.com/l/_x7difEuWswGR

additional 3000 in his account. The annual
interest he receives at the year end is X220
more that what he would have received if the
bank had not increased the interest rate and
had not deposited additional amount. Find

the original deposite.

° Watch Video Solution

Unit Practice Paper lii



https://dl.doubtnut.com/l/_x7difEuWswGR

1. 25, 000 are invested at 15 % p.a. for 1 year.
Find the interest at the end of 1 year and also

the amount.

o Watch Video Solution

2. Meera borrowed some money at 5% per
annum. If she had to pay X50 as interest after

2 years. What sum did she borrow ?

o Watch Video Solution



https://dl.doubtnut.com/l/_gqDY4G6FZQk0
https://dl.doubtnut.com/l/_OikvvlD6oNF7
https://dl.doubtnut.com/l/_1ToGBho5vPa7

3. At what rate per cent will a sum of money

double itself in 10 years ?

° Watch Video Solution

4. A sum of money lent out at simple interest
amounts to 20, 000 in 1 year and to X30, 000
in 5 years. Find the rate of interest and some

of money.

o Watch Video Solution



https://dl.doubtnut.com/l/_1ToGBho5vPa7
https://dl.doubtnut.com/l/_uA1o2HTWtAJE
https://dl.doubtnut.com/l/_7TekWCyyuVUT

5. Karan deposited a certain sum in a bank at
6 % per annum. The bank increases the rate
of interest from 6 % to 7% . Karan deposits
24000 more in his account. The annual
interest received by him now is X380 more

than before. Find his original deposit.

o Watch Video Solution

6. In how much time will the simple interest on

certain sum of money at 75 % per annum be

6 fitself ?
7 of itself

| = |


https://dl.doubtnut.com/l/_7TekWCyyuVUT
https://dl.doubtnut.com/l/_wVdQ7tAXVC8M

I &9 Watch Video Solution I

7. Interest earned on 20, 000 is 1600 more
than the interest earned on X16, 000. If both
the sums were invested at the same rate of

interest for 4 years. Find the rate of interest.

o Watch Video Solution

Challenge


https://dl.doubtnut.com/l/_wVdQ7tAXVC8M
https://dl.doubtnut.com/l/_MPFPyOSl9Ov5

1. Divide 3600 into two parts such that if one
part is lent at 9 % p.a. and the other at 10 %

per annum the total income from interest is
333.

A. 2900, X900

B. 32500, X750

C. 1700, X700

D. 32700, X900

Answer: D

‘ o Wiak lh \AAaA CAaliikianm



https://dl.doubtnut.com/l/_bSX3bLm4g0ZB

VVCILLIL VI INAGINIE L J

2. Anil deposited 8000 in a bank. He withdraw
3000 after 2 years. At the end of 4 years he
received an amount of 6300. Find the rate of

intrest.

o Watch Video Solution



https://dl.doubtnut.com/l/_bSX3bLm4g0ZB
https://dl.doubtnut.com/l/_xddVDMGIXGJv

